PAY DAY

PA-5008 ON SALE NOW

LOTTERY
WHEN ANY OF YOUR NUMBERS MATCH ANY WINNING 4

P
[l NUMBER, WIN PRIZE SHOWN UNDER THE MATCHING NUMBER.
E CHANCES ARE CONSOLIDATED
WIN WITH: 1 IN: CHANCES ARE 1 IN:
A S5 $5 10.00 $5=10.00
L s5x2 $10 25.00
$10 $10 25.00 $10=12.50
E $5x3 $15 66.67
$10+95 S15 76.92
P $15 $15 76.92 $15=124.39
o $10x2 $20 285.71
$15+$5 $20 285.71
s ($5x2) +$10 $20 333.33
-I- $20 $20 285.71 $20 = 74.07
$20 x 2 $40 333.33
P (95 x 2) +$20 + $10 $40 500.00
($10x3) +($5x 2) $40 333.33
| KL $40 333.33 $40 = 90.91
$40 +$10 $50 1,000
E (55 x 3) + 520 + 15 $50 666.67
A ($10x2) +($5 x 3) +$15 $50 666.67
(520 x 2) + $10 $50 1,000
s $50 $50 1,000 $50 = 166.67
E $50 x 2 $100 4,800
($15x3) +($10 x 2) + (5 x 3) + $20 $100 4,300
P (520 x3) + ($15x 2) + ($5x 2) $100 4,800
$100 $100 4,800 $100 = 1,200
o (550 x 3) + (540 x 3) + ($10 x 3) + $100 $400 24,000
(5100 x 2) +($50 x 2) + ($20 x 2) + ($15 x 2)
S +($10x2) +($5x2) $400 48,000
'|' (5100 x 3) + ($50 x 2) $400 48,000
$400 $400 60,000 $400 = 10,000
P $400 + $100 $500 48,000
(5100 x 2) + ($50 x 2) + ($40 x 3) + (520 x 3)
| s $500 48,000
E (5100 x 3) +($50 x 2) + (540 x 2) + ($10x 2) ~ $500 48,000
$500 $500 48,000 $500 = 12,000
A $500 + $400 + $100 $1,000 60,000
(5100 x 3) + ($50 x 3) + ($10 x 3) + $500 + $20 $1,000 60,000
S (5400 x 2) + ($50 x 3) + (520 x 2) + $10 $1,000 60,000
E $1,000 $1,000 60,000 $1,000 = 15,000
(51,000 x 3) + ($500 x 3) + $400 + $100 $5,000 960,000
P $5,000 $5,000 960,000 $5,000 = 480,000
0 PROGRESSIVE TOP PRIZE STARTS AT: $43,000 192,000  PROGRESSIVE TOP PRIZE = 192,000
s OVERALL CHANCES
OF WINNING: 1 in 3.96
T Prizes, including top prizes, are subject to

availability at the time of purchase.




